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The figures in the margin indicate full marks
Jor the questions

1. Answer any four of the following as directed :
1x4=4

fRebrRE @ farse R @ sReR e fi -

{a) “A valid argument may have only false
propositions—false premises and false
conclusion.” Is this statement true or
false?
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(b)

(c

(2)

Which of the following is a conclusion
indicator word used in an argument?

e il Wl @b Ee IR @A
Pt > ?
(i) Therefore

sfecs

(i) Because

R

(Choose the correct answer)

(% Terot AR Bfersar)

In which order of enthymeme, the
minor premise is hidden?

| TR R P TS T SREIeeT B
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(3)

Write the literal meaning of the word
‘misericordiam’.

‘Misericordiam’ *IOR SrFRSF 5ef B |

Logicians I. M. Copi and Carl Cohen
mention one/two/three kinds of fallacy
of composition.

(Choose the correct answer)
wREN wR, @ I wE I @A
RIS SFERA O/ /RNE R By

= (o= et R Tierean)
‘Argument from Verecundiam’ is a
fallacy of the argument from

ignorance/fallacy of false cause/the
argument from inappropriate authority.
{Choose the correct answer)
‘Argument from Verecundiam’ S$THRCH!
a9 RTINS PRI
SR /TR T ST |
(o= Tavchr MR Bfren)

(d) How many premises a sorite may have?
2. Give example (any three) : 2%x3=6
ite) (IRB1 ARG AR
ﬂ?ﬁ e (sorte A i (R coreen RfGH) -
‘ fa) Deductive argument
{e) Name the chief fallacy under which the } fRereTee 3
Strawman fallacy is included. ;
Strawman S0 PRSI T6 e | (b) Sorite
EYS, CGIREON A forar | | TR-RIT
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(4) (5)

() Dilemma (d) Determination of valid moods of second
W figure of syllogism

e 2l EwR 3y 9 71 Remt Refg

(d) Argument ad Baculum
(e} Argument ad Populum

HREAD GG IFA
HRIGTB IS A
(e} Argument ad Hominem .
RGO 9% RN () lgnoratio Elenchi
TS IR
() Argument ad Ignorantiam
URGTTD TG 2 TAOAN 4. Answer any three of the following questions :
10x3=30
3. Write short notes on (any two) : 5x2=10 wore il erprd R e fefibm B for -
o o o1 (R e )
(a) Distinguish between inductive inference
() Types of conversion and deductive inference.
AR SRRCIN e I R e Rl Twe
“fidf fAdfa =1
(b} Characteristics of inductive argument
e IR PR (b) What is categorical syllogism? Explam
- : the characteristics of categorical
{c) Figures of syllogism syllogism.
TR FREM fracrs R P B Jw? Reers e
) RBPTR IR

A23/416 .
/ ( Continued ) A23/416 ( Turn Over )



()

(@)

(e)

(9)

A23/416

(6)

What is hypothetical syllogism?
Elaborate various forms of hypothetical
syllogism with suitable examples.

ST U ST
CTee g R RSE o) T 11

What are the differences between
immediate inference and mediate
inference? Discuss.

TG HAR S TGN SR TS R R
NYT TR ? T=SA] 47 |

Explain various kinds of inductive
fallacies.

fRfew 2= eI ST T 90

Discuss various kinds of fallacy of
presumption.

s Shora RS 2R e #=11 |

What is fallacy according to I. M. Copi?
Discuss various kinds of fallacy of
equivocation.

R, . IR WS HER [F g mehre
ST RiSw 2R S= 9047 |

( Continued )

(h)
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(7)

Ilustrate various differences between
formal and informal fallacy.

IRIRE WF SHRIRE SRR TES 7
NP FRAX ST 4 |
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